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QUESTION 1

If a user has the EXTENDED DELETE extended permission on a document, what is the minimally required basic
permission for the user to be able to delete the document in Webtop? 

A. NONE 

B. BROWSE 

C. WRITE 

D. DELETE 

Correct Answer: B 

 

QUESTION 2

Which scope will be evaluated first when a user has different scopes within one preset? 

A. Location 

B. Permission Set 

C. Role 

D. Object Type 

Correct Answer: A 

 

QUESTION 3

An activity in a parent workflow needs to initiate a child workflow. The parent workflow needs to proceed execution only
after the child workflow completes. How can this be achieved? 

A. Wait for an event in the Content Server and send a notification to the parent workflow when the child workflow
completes. 

B. Wait for an event in an activity of the parent workflow and send the event to the parent workflow when the child
workflow completes. 

C. Wait for an event in an activity of the parent workflow and send a notification to the parent workflow when the child
workflow completes. 

D. Wait for an event in the Documentum Messaging Services and send the event to the parent workflow when the child
workflow completes. 

Correct Answer: B 

 

QUESTION 4
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When an object is promoted to the next state in a lifecycle, which condition must be met before the object can enter the
state? 

A. There are no pending workflow tasks involving the object. 

B. The object\\'s permissions match the lifecycle\\'s permissions. 

C. Only the CURRENT version of the object is being promoted. 

D. It meets the target lifecycle state\\'s entry criteria. 

Correct Answer: D 

 

QUESTION 5

Which product is used to secure and control content once it leaves the content repository? 

A. Trusted Content Services 

B. Information Rights Management Services 

C. Content Storage Services 

D. RSA Security Manager 

Correct Answer: B 
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